S4 (4.1) Trigonometric Functions.notebook September 22, 2016

Daily Practice 9.6.2016

1. solve algebraically the system of equations
3x+2p=17
20+ 5y =4, 3
Today we will be learning how to draw the graphs
of trigonometric functions.

MAKK
. 2 —
Simplify 5—4"_ 3
x*+x-20

The gmph of the Sine Function

Like other functions, points created using trigonometric functions can also
be plotted to form a graph. o s .

We can create a graph by using values along the x axis.

A typical Sine graph goes to 360° on the x - axis
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Sketching the gmph of the Sine Function

The graph of y = sinx°

2 2

O 307 40" 90 120° 1507 180L 210 240 270 300 3307360

This graph is called 3 Sine Wave

Daily Practi a 10.5.00 18

Q1. State the roots of the function y = x2 + 4x - 12 (-6:0) &2 ,O)

2 -2
The gmp]’w of the Sine Function MQ‘,SO o' ?x::‘;’ —2) =o z"‘ or ‘.'a'
Q2. Calculate the gradient of the line joining (3, -1) and (7, 6)
Now draw 3 sketch of the graph y = 2 sinx ms= ooy 6_.(._0

=
s

XKy~ = <
Q3. Factorise 81 - 10()[)2 73

(o + lob)(a-lob)

Q4. Calculate the volame of a sphere with diameter 10cm to 2 s.f.

V= % «'s %wd’ > 523.5 - 520em’
Q5. Rearrange 2t + b = ¢ such that t is the subject ===
b &
4t C“L
22 <2

f":";"_‘h
<

t- b

e

The gmph of the Sine Function

Can you remember what a sketch of a Sine graph looks like?

Y4

Today we will be continuing to draw the graphs of
trigonometric functions.

-"
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Daily Practice 13.6.2016
E ;'E — ( Q1. Calculate the height of a cylinder with radius 7cm and
B R AN R R R N R R R volume 14000cm?
B Q2. State the turning point and its nature for the function
S y = -(x + 3)?
;; 1:;# (50 18( (
BEEESS"* ¥ Q3. Multiply out and simplify (m - 7)(2m? + 5m - 1)
Q4. State the point where the line 2x + y = 12 crosses the

X - axis (remember y = 0, when a line crosses the x - axis)

Q5. Factorise 2x% + 9x + 4
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Ske’rching y = cosx”

Today we will be looking at the features of
trigonomeftric graphs and looking at
transformations of graphs.

Sketching y = tanx®

Daily Practice 14.6.2016
Q1. Factorise 6x* + 17x + 5

(ﬂz +5\X3x+()

Q2. Simplify 3470 1 4900 — 2500
The petiod of a function is the length of 3 wave before it repeats itself. 3(0 +30 -50 - 3{0-30
Q3. What is the semi-interquarle rangg of the data below_?H
The graphs of Sin and Cos have a period of 360° whereas Tan has a period of 'su‘&'“_s;_ g‘lﬁzg: ES %!4‘%’ 5
180° . = ‘21' Q= 1’:_—”", 185 &t‘ﬁ“-m-‘s
Q4. State the equaon of the line joining (-3, 2) and (@L

Period and Amp“hj({e

The amplitude of a graph is half the height between the maximum and Give your answer in the form Ax + By +C =0

minimum turning points. The amplitude of the functions y = sinx® and M= w ) 8-2 '-_s_ 3 d'b’ m(x—‘b
XXy (Y= &= 2 ey 4)
=2(x
x, J xZ

23-'6 Jx-3
Dxsd -4

1u£3x-|3 =0

3:-25&‘3-.0

y = cosx’ is 1. We don‘t need to worry about the amplitude of tan.

('.mph transformation

The amplitude and period of a trig. function can change if the graph is
transformed (stretched or compressed horizontally or vertically).

Desmos
Today we will be continuing to learn about graph

transformations.
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Crzph transformation

Given the functionsy = asinx® or y = acosx® , ‘2’ represents the amplitude of
the function. -a” means the graph is upside down.

Given the functionsy = asinbx® or y = acosbx®, ‘b’ represents the number of

times the graph repeats itself in 360° (360° + period). Fory = tanbx® , it is
how many times the graph repeats itself in 180° (180° + period).

We need to be able to identify and_sketch these graphs.

(‘.mph transformation

Examples: Sketch graphs of the following

A

(b) y = ~cosx®

t %k

o 18 o'

=l
Daily Practice 16.6.2016
Q1. Solve 6x - 2(5x +4)=0 —L4e=B
- =° ==2
bx — 0% -8 x

~Loe -
Q2. State the roots o The functiony = x2 + 7x + 12

0 o qods A+ Fx+l2<0
J (43 Xm4l) =0 %—é_‘f

Q3. State the turning point, nature and axis of symmetry of the

functiony = (x - 4)(x + 2) Bots x4, z--l
X2 -§ x=| ‘
(-¥-9 TR0 '

Q4. Solve the equation x? - 4x = 0 -(Hﬂ( )
x(x-4)=0 J=e \'J""‘ !
xs0 o 22t Y “1)

?;;;2‘ m*w.ml

September 22, 2016

(Tmph transformation
Examples: Sketch graphs of the following

®
=8in%
(a) y = 2sinx® J
2

Crzlnh transformation

Examples: Sketch graphs of the following

() y =tan2x°

Today we will be continuing to learn how to draw and
identify trigonometric graph transformations.

Homework Online diie Thursday 236 2016
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(Tmph transformations

Examples: Sketch graphs of the following

() y = 3sindx®

ys Jginlix®

|
,% ANEVANEYA N
-?J[ NA e e \Uae

0 Ye-~aunae’

Daily Practice 17.6.2016

Q1. Factorise x? - 4y?
(x 2y Xx+2y )

Q2. state the y - intercept, turning point 3nd.axis of symmetry of the
function f(x) = (x -3)2+ 2 -%%\,-?‘ﬁs.-ﬂ (ol

TP=(33) hoddypmaz3

Q3. Rearrange the formula Y = 248 + b such thag js the subject
Y-b=Bac X L2 e

2a

a
Q4. State the eqaution of the line joining (3, 5) and (-4, 1)

N = S

-9= %(x -‘5)
73-35='-b=-‘3~

73:“:4—73

Letchi , :

Feedback from looking at jotters:

* When sketching graphs such as y = sin3x°, work out the period of
the graph and use this to annotate the x - axis.

* Ensure that you have a maximum and minimum T.P.

* Label the axes after yu have sketched the curve.

September 22, 2016

(“.mlnh transformation

Questions: Sketch graphs of the following

(@) y = 4sinx® (e) y = 2eos5

(b) y = 2cosx® (f) y = -2sin2x°
(c)y = -sinx°® (g) y = tan3x°

(d)y =sin2x° (h) y = —sin3x°

L.I: Identifying the equation of a trig. function
from its graph.

Homework due Thursday 23.6.16
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(‘.V:Ph transformation

Example; Write down the values of 3 and b for each
3 i b 0
The graph below is of the form y = asinbx?, state the values of 3 and b Y =3a51nDX
I 5=a9\bz' a=2 b=l
2

e ?

0 0 160 2b0 300 360

Write down the values of 3 and b for each Write down the values of 3 and b for each

=3cosbx?
J y =asinbx® a--\ 9 ¥ acoeRx

- NS
\/\ Awd \U°' T/ ©

=

Write down the values of 3 and b for each Write down the values of 3 and b for each
Yy y =3sinbx® y =3cosbx?
3

. J

2
i N/
00 N 1800 * GF x<
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Write down the values of 3 and b for each Write down the values of 3 and b for each
y y =3sinbx® Y y =3sinbx®
34
144 P
\ 1_
e
00 " 300 ) 2o ‘ 300 o g0 gpo
; A
24
Kl
@& :l b :3 -31
J: Sin3x” “]

2. Each graph below is of the form y = tan bx. Write down the value of b. Graph tran (mkm%‘rinn
T

@1y ® v

Task:
Draw a graph of a transformed trigonometric function.
X / Write down another trig. function.
0 80 70 60 60 20 30

Swap your jotter with the person beside you. Then
1. State the equation of the function they have drawn
2. Draw the function they have written down.

© . Daily Practice 2062016

' |, Etme S 2 e lee 28
Give the answer in simplest form. ‘a q/ '° 2 L/

Screenwash is available in two different sized bottles, ‘Mini” and ‘Maxi’.

S.'f.'- %-‘- 24

° The bottles are mathematically similar.

Calculate the volume of the ‘Maxi’ bottle. 3
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Today we will be learning about vertical and
horizontal transformations of graphs.

September 22, 2016

Vertical Movement = CMPI” Transformation

If a trig. graph is transformed vertically by shifting up or down, the

amplitude will stay the same.

The equation of this function
will be of the form

y =asinbx® + ¢

where c is how much the

Vertical Movement = Gmph Transformation

Examples: State the equations of the following

1. - qs,'qu°+c
(@) j

v

ezl b:a c=x

DAILY PRACTICE

®)

‘\j =acoshs’ t

b=2
Cs =2

2 a:'

x

920 180 270 360
B \ /\ /\
-3

B:Cosa)f -2
S

21.6.2016

1 The diagram below shows a circle, centre C.

X% B*-@* K

x2%= 8|
x=%9cm

tongn P~ AX A= \‘

The radius of the circle is 15 centimetres.

Ais the mid-point of chord PQ.
The length of AB is 27 centimetres.
Calculate the length of PQ.

2. State the 'rur';ung point
of the function

y=2(x-3%+4
AP=(3%)

—

function has moved up or
down. /

Vertical Movement = GPQP") Transformation

Examples: State the equations of the following

zdSl."bx.fC ®

J =acoshé+C

5

4

oW

[V

AVAVE

Today we will be continuing to learn about trig. graph
transformations.
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= sini®
% s sale-”

ar
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€

Horizontal Movement - Phase éDg e

If a trig. graph is transformed horizontally left or right. The amplitude &
period will stay the same but the roots will change.

Similar to quadratic functions (+) means movement left and (-) means

movement right.

This will be of the form y = asin(x - k)°

Horizontal Movement - Phase ng|e

@ y =asin(x + k)©

v

September 22, 2016

Vertical Movement - Graph Transtormation
(@) i (®)

() y =acos(x + k)°
st
N
2

x 1

300 360
Ao [ 6 1X 1o 20 jo 30

2
-3
.
5

¥ =@SH 4 ¥
% 180 270 360 0 130 27, 360
1 -1
3
4 4
© ()
4 ’ jsqco,s baco+c , ¥
: > 3 =0,cesba®+C
: 1
\ /\ /\ N A
by 90 180 270 360 \
W 130 270 360 Bt
-
3
3 .
4
E
Horizontal Movement = Phase Angle
Examples:
1.y =acos(x + k)° 2
] . y =asin(x + k)°
4
3 2
. 1
<0 1 20 o 270 /o 60 90 120 150 180 21, 240 270 300 330 360 )
2 -1
4 2
asS k=10
o
d = See+ 0@
J:.!I\(’- +1)°
3
3
i e




S4 (4.1) Trigonometric Functions.notebook September 22, 2016

DAILY PRACTICE 24.6.2016

A supermarket sells cylindrical cookie jars which are mathematically similar.

C D sfBlsy

— \sf= (1)},
COOKIES | 24em Today we will be continuing to learn how to
COOKIES 45cm u)’ s solve trig. equations.
350 x{ 20H?
—

The smaller jar has a height of 15centimetres and a volume of 750 cubic
centimetres.

The larger jar has a height of 24 centimetres.

Calculate the volume of the larger jar. 3

24.6416

Salving Tl—ig Fquaﬁnn

Solving trig. equations involves finding the corresponding x when you know Salving Trig Equation
they.

Trig. equations can be solved in a similar way to reqular equations.

v o
For now, we are only going to look at getting one solution (the acute or

Eg. y = 3cosx” is 3 graph reference angle).
. i O
When asked, solve Examples: Solve the following 0<x<90
3cosx? =2
0= 0~ fog0 =
This means, ‘what are the values of x when y = 22 (a)éziosx la (bifta"x é} (Q; + dsinx -&

Cesxle O"S tanx®= -g- l:“g“ﬁi
x sa'05) xton'($) " sinat <018
nk xg et

(d) 3 - 2cosx® = 4 (e)1-3sinx° =2

Solving Triq. Equation
05

Questions: Solve the following 0°<x<90° (reference angle)
Beosx’+ 4=0
: o
(i) 3tanx°= 5 Aeosn’s -4
(i) cosx° -0.6=0 cohx ==
S

(iii) 2cosx® -1=0
(iv) =2 +2tanx° =0
(v) 5cosx® +4=0

Solve the following equations for 00 < x < 90° (reference an gl e)
(a) 2sinx"-1=0 (b) 4eosx’-3 =0

(c) Stanx’ - 12=0 (d) 3sin +6=7

(¢) 4tanx’—3 =10 (®) 6eosx’-2=3

(g) 3cos X0+4=2 (h) Ttan Y+3=0

(i) 6sinx’=35=0 (j) 10cosx’=12=6
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Daily Practice 18.8.2016

Q1. Two pieces of floor are similar in shape. The area of the larger piece is
20.25m?, calculate the area of the smaller piece S (“, ﬁ-’r‘i ‘azs

e VAR

2025 +(229)'" Yy
Q2. Calculate the internal angle of this pentagon
360°+5:73°
(her-129) 250

S4°x2 = ¥ By

Solving Trig. Fquation

Solve the equation 3sinx® :2215‘?-
3simc= |
sint’s 3
%°: sin*(%)=19.5°
—

Is there another possible solution between O and 360°?

X

'“'-n.s‘, 'b.so
§n|vihg Triq Fqu:ah'rm
D4 = <360
Solve the equation 3tanxC + 2 = -3
O C] O -2 ‘z
tean’=-5 |

ko= -+

%,
xta’(£).5¢ 4
W) *

1%0°-89°= I
360°-51°- 301"

September 22, 2016

Today we will be continuing to learn how to solve
Trigonometric Equations.

&' wae dpn O sohéon
Due o symuetwy 1o e Sin,cas and ton guphsc b 12
offen mma tren | ol 4o rig. equakions.

‘ﬂ\&d’w-‘\fsm ba foerd b using $e acale or refeence
0nje.. Alsags kp 41 poshin whon sy tha howse
&g s ()
ook 50'(R)
Ban slckch e qeph of B fundion do seeuhere k s
fﬂﬁﬁborv.
I~
‘ ‘o, E\e

e

Symmetry in Tw‘g Cvaph

Due to symmetry, there are 4 places on the graphs of sin, cos and tan that
give the same y - value (ignoring the sign.)

[
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Symmetry in Trig (‘.mlnh

Daily Practice 19.8.2016

Q1. Multiply out and simplify <3£ _’T>(12X2+;i( Qnﬂa 2%
2’ - Q8 y2Uxt - -

bx® xAx* -25x + b

Q2. Factorise and then solve x? - 6x - 16 =
(X-T'-l.oz -8) =0 .
+2 ]
MISa TR
Q3. Write x2 + 6x - 1 in the form (x + S +

3 2
Q4. Write as a single fraction ——+= where x#-1,0
Xex+1l x

3x . ) Sx+ 2
Z(xﬂ) x(xﬂ) X(x+| ’

Symmetry in Trig (".lrzlnh - ‘115- %dﬂé

First find the acute or reference angle x°. To get this, always find the sin/
cos/tan inverse of the positive value.

Then use your graph to see where your angles are. They will be in 2 of the

Today we will be continuing to learn about four sections of your graph. Your solutions will be 2 of the following:

trigonometric equations. * Between O and 90° i.e. x°
* 180° - x°
* 1800+ x°
* 360° - x°

Saly ing Trig- Fquation (All Solutions)

(b)5+tanx° =4 0 <x<360°
Examples: Solve the following et
ef. angl = or'(() =45°
(3) 3-2cosx® = 4 . )
~Qeosx°s | s lﬁ

Ccosx’s -:-!..
Ref. ongle < ces'(4)- 60"
x Ro- o o
-k = lw+ “..l%q_on

z=35° -ys° :5'5
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0 <x<360°

(c) 4sinx°+2=3
(’ o xogl
Sinxe’=
x=sin’(#)+ 1£5°

Xx = 180°-[4.5°= |(,=5.§°

Q. Sehe Qusx*-(=0

Today we will be continuing to learn how to solve trig.
equations.

Daily Practice

——
Q1. Multiply out and simplify (x + 3)(x + 2)?
ply p fy& AP0 Sexa ) ,
Pt + G F 323 w12 H
Ly “xh‘!xt-vuxo-l‘l
Q2. Calculate the value of a house worth £180 000 and appreciated

by 2.4% per annum for 3 years  (02-47e ,",;,3;' 1o24"=f (a3 1'?3

Q3. Factorise fully 36y - 64
actoris Y‘}éjs, 5) = w
Q4. Solve 3sinx® = 1 s 195
sl ¥ s’ Jﬂ-p.
9‘%:)—‘&5'

September 22, 2016

Daily Practice 2282016

Write the following in order of size starting with the smallest.

cos 90° cos 100° cos 300°
O - *
Justify your answer. Cl aQ 2
i cos 100", cas q0°, cos300

0 <x<360°
(d) 3-2cosx° =4

Today we will be continuing to solve trig.
equations and solve some in context too.
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Salving Trig Equation (All Solutions)

Solve the following equations where 0 < x = 360

(@) 2sinx"=1 M 3cosx®=2 (©) 3tanx*=35
@ 2cosx’=-1 () 2tanx’=-8 ) 4sinx®=-3
(g Stanx*=235 () Ssinx®=2 (i) 6eosx®=1
() 8sinx*=-3 & 1lcosx’=-9 O 10@nx*=-9

Solve the following equations where 0 < x = 360

(@) sinx*—1=0 () cosx*+1=0 (© tanx*—1=0
(@ 2sinx®*+1=0 (&) 2cosx*—1=0 ®H 2tanx"—1=0
(@ 4cosx®-3=0 (h) 3sinx®-2=0 (i) Scosx®+2=0
Gy 3tanx*-2=0 & 3cosx*+1=0 1)) 7sinx®+3=0

Solving Triq Fqn:aﬁnhﬁ in Context

In the diagram below, the point L represents the lift.

LI

#\P
17m) M
15m

The height, h metres, of the lift above the ground is given by the formula

h=15tan x°+17,
where x° is the angle of clevation of the lift from the surveyor at point P.

(@ What i the height of the lit above the ground when the angle of elevation
from P is 25° hz 15tands 1l Fe 2

(b) What is the angle of elevation at point P when the height of the lift above the
ground is 184 metres? I‘ 'l“"m:& +l'1 3
- -
]
167 = [Stanx
l"lszw. i) 430
xo'h"(b(" =719,

ks en
gRA )

Today we will be practising mixed questions on trig. equations.

September 22, 2016

Solving Trig qumﬁnm in Context

At the carnival, the hei
of a carriage on the big wheel above
the ground is given by the formula

H=10+5sint",

(a) Find the heiﬂ! of the carriage above the ground after 10 seconds. 2
(b) Find the two ti uring the first turn of the wheel when the carriage

i 125 s sbove the ground. .
@) H=10+S8l0" = 10X medres
(L) He12 3 %
12 5=+ Sunt” v ’

Daily Practice 2582016

Q. State the equation of the line joining (-2 :5%32&&1_,‘14) and give
your answer in the form Ax + By + C=0 -5=73(z449)

=V, -l =S - ~5=2-3x-b
M= %-:3;' = 'lll_(a-_ %‘ﬁ. 394_:4.'-0
Q2. State the turning point of the function y = (x - 3)? + 2

TP- = (30:
2

3
Q3. Write as a single fraction  =+— where x 20, -3

x x+3
¥rd+dx _ Sxay”
x(x+d — xx3)

Q4. Factorise x* - 9x + 18
G- eXx-3)
—_—L

Trig Craph - Intersection of 3 line 3nd 3 wave

Trig. Equations may come in disquised forms!

The graph of y = 3cos x is shown below. 2 3(“
v
3 -9 ~Deosx
2 % 2Cosx

' . . o "(&): ll'&l.‘

LN e

A Plotar-2) G2 -9)
P—_——

The line y= -2 has been drawn on the graph. Find the coordinates of P and Q.

\x;.
S
w
S
3

&
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Tw'g (‘.mlnh _ Intersection of 3 line 3nd 3 wave

The diagram shows the graph of y = 4 sinx.
y

¢ v Find the coordinates
/, of Pand Q

(sin*x)
s (siml-)‘=0'lﬂ
A2 8.4 P> N

- W

Lo =

Daily Practice 26 82014

Q1. Factorise 2x? + 7x - 15
=30
b
. . . 3x x
Q2. Write as a single fraction ——+= where x # -1

b ‘-kx+1 2 o

S B . .
2=\ x = m L% = z.., ]
Q3. Solve the equation 3 fsmxO whe &fo < x <3600

% ‘
s |mw. o
Q4. Rearrange the formula such that q is the subjec =
= 2t-d

q}- ‘_c '.—Zﬂ-‘)

%:f
1:

Trig ldentitie

Trig. Identities are relationships between sin, cos and tan. (Ways of getting
one in terms of the other(s))

You can use them to show that statements are true.

You need to know these (but not their proofs) for your exam.

sin’x + cos’x = 1

e 4
Sinx'=h= T
3 Cosxs oo F

ERENTR S N

September 22, 2016

Like any other function, the roots of a trig. function can be found by
equating y to zero and the y - intercept can be found by equating x to zero.

Today we will be learning about trigonometric
identities.

Triq ldentitie

sinx + cos?x = 1

We can rearrange the above identity to get it in terms of cos or sin.

S((\"x = | -cos'x
cos*x = | =sin"X
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Tria. ldentitie:
e
sinx’# ;‘ a-:'-%
v y
3 -t - ; = é'*'z 2 %-_3'
W'-.-';- 'h"

Today we will be learning about trigonometric
identities.

Leos A

U( | ~sith)
= § ~UsintA <RHP.S

September 22, 2016

Daily Practice 29816

Q1. Calculate the volume of a sphere with a diameter of 15cm. Give
your answer to 2 s.f.

'} 3
) 5= 1767 14 :
V 5"&7 5 'ﬂ ' 72 cm k&.’k‘g?z‘

Q2. Calculate the length of k kem akted2?
Sk’ g-"—_‘;".:‘—‘ ke 72
F2sUS s i o km k >
Q3. Multiply out and simplify (3x - 4(2x +.5) =\,m
‘8“ +B8x -&* =20 k'”
622 43x-20 330%

Q4.Solve the equation f +8x-20=
x4 wﬁ:ﬂg =0
X 4100 or %~2

<

X0 =R

TrigIdentitie

Examples:

1. Show that cosxtanx = sinx
———

L#s cosxbeanx

)
Cosx
= SEME | jexs RHS

2. Show that (sinx - cosx)? + 2sinxcosx = 1

LHS ¢, 2.2
(St —com YSx <onx)+ Aosx,
Tnlx ~ Slarcesxe - Cosxsinnt +Cot®x + Ainxcosx

Sintx. - Asiironx +oasics &%x

= Sntescosir=| <RUS

bm

L

Daily Practice 20820146

Q1. Factorise 3x* - 5x - 12
Bz vy )x-
=
Q2. Solve algebraically the set of equationsm, X4+& '9
: 2y 5yand 2 1q ® 1' 3*‘23;‘-5
x+2y = -2y =1-x
+% + ?‘ -'6 b:'
(39 z J

L XED
Q3. Sketch the graph of y = (x + 3)? - 2 showihg the unzﬂ; point, y -
3

intercept and axis of symmetry. ]
= KAy 1)
12230 X3 : »
&.Hn'l-.sx& 5 ’ .
(o3 -4 "
Jya @ ’
J Ex]
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Today we will be continuing to practise trig.
identities.

Daily Practice 192014
ab Fy- (4= -32=-
Ql. state the equa’uon of’(he line joining (-3, 2) and (4, -
P 3—5: m(c-a)

M= * -(—3)~ = =
E R TR AL ﬂﬂ =2 (x+3)

Q2. Soll\{}ej&&eq.uailon 3x2+5x-7=0, gww@m%a%@u
X= " b R 5.0 ST = =Bx +5
Tz 3u( . “5t{jet J=x

—_—
6 or S _m
Q3. Solve the equation Scapg 1 6=Q  0° <x<360° ¢
cos'(3)-36.9° (re(‘) cosx®= L ©-or -25%

180>+ 36%%- A’ —— (A
(80°-36:9°+ 163 )° k Pj

(h) Hence find n, wlrén (70 = )
L ol v ot

y § =4 Y IS

_—

) X<

Q4 (a) [:\alu_@c (2%

An oil tank has a circular cross-section of radius 2-1 metres.

It is filled to a depth of 3-4 metres.

34m

ke=\22< !-65(2o\-)[

K2 1377272 yag ‘g NS

(a) Calculate x, the width in metres of the oil surface. L‘S'XZ

=33m
(b) What other depth of oil would give the same surface width?
liomeber = 4+
4.3 34 =08m

September 22, 2016

Prove 2cos’A + BSinzA%

LHS Qeos A+ Bainkf
osth + 3(1 -centh)

Q:.u'ﬁ +3 —3cos?f
—cos?h+ 3

=3 -cos*R =R HS

Sinbe= [~costx

Today we will be practising mixed questions on
trigonometry.

The graph below shows part of the parabola with equation of the form

y=(x+a) +b.

@44

“The minimum turning point (2, ~4) is shown in the diagram.

() State the values of k(j = ()C - 2\1 - L‘
(i) 5. b q \/

{b) Virite down the equation of the axis of symmetry of the graph.

x=d v
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The flag at each hole on a golf course is coloured red and blue.
The diagram below represents a flag.
Triangle QRT represents the red section.

PQTS represents the blue section.

30cm
24cm

P Q

Triangles PRS and QRT are mathematically similar.
The area of triangle QRT is 400 square centimetres.

Calculate the area of PQTS, the blue section of the flag. 4

Today we will be continuing to practise mixed
questions on trigonometry.

Today we will be doing some revision for the
Relationships Unit.

September 22, 2016

A pipe has water in it as shown.

' ? ' q +(r-6)‘=r"

5 & B4 r_o-—mumeg

06 —pr=0
The de prh of the water is 5 centimetres. lobsor
The width of the water surface, AB, is 18 centimetres. ©© ® h{ﬁﬂ
——
Caleulate 7, the radius of the pipe.

Q2. Draw 3 sketch of the graphy = (x - 2)(x + 4) showing the turning
point, axis of symmetry and roots.

H - ) Avis § 2=-|
Rhs Goaoadno  Aefuedyd

R L (M)(o;)-s iy (—l - ;{__'«?1
(0,4) (".' 1\

Daily Practice 292016
Ql. Fi li 1 2 -5 e
ind the ec‘uatlon of the xr\;e_[o[inrg(_ ; Jand (2550 -, 4 %
e RS e
YA 2 o(3) y+s =0 53 res=-be,

Q2. Multiply out and simplify (3x - 4)(x + 7) by Y0
ply Pgiyc PN an sy b

Bt 1o - 23
Q3. Rearrange V = m*h such that r is the subject
= wh v

) v
i l\ - = '\-(L‘
/f’
Q4. Solve the inequality 3x +_4L‘S X +—18 Ve e b
¢ & o>+ 6 x =3

X =
Q5. State the turning point and y intercept of the function y = (x + 4)*

T.9.=(-4,0)

[
Y- u\ivcﬂf ) Xbo(o Wl (Ocjl=6)

Coffee is sold in regular cups and large cups.

The two cups are mathematically similar in shape.

s.f.= (-‘5)’
| ﬁ v | (%)’

Regular Large '(“- I60 X %)

1601 22

Tio itp
2oml

2lcm

14cm

The regular cup is 14 centimetres high and holds 160 millilitres.
The large cup is 21 centimetres high.

Calculate how many millilitres the large cup holds.
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